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Therefore can assure SnDg contains no cites

If there is a circle of Saz that does not

separate 4 from Lz then it bands on 2
a disc disjointJean K again can

safer to reduce intersection
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By what said before Ka Km well defined
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give two expressions of K as of primes
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the same expression of K as of primes as S

Note after this operation on the symmetric one
the number of spheres in T and in T is unchanged
the decompositions given by J and by J are unchanged
the number of spheres shared by S and T is increased
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We conclude by showing that any of the
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